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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Which variable among the following
is not demographic characteristics of
the population ?

(A) Age structure

(B) Sex structure

(C) Marital status

(D) Literacy level

When does National Sample Survey
(NSS) started collecting data on
births and deaths ?

(A) 1950-51 (B) 1954 -55
(C) 1956-57 (D) 1958 -59

Match from List — I and List —1II :
List-I List-1I
() World TB (i) 11" July
day
(b) World (i) 24™ March
Health Day
(c) World (iii) 7™ April
AIDS Day
(d) World (iv) 1* December
Population
Day
Code :
@ (b)) () (@
(A) (i) @Gy (1) (1)
B) () @) (@) (1v)
© @G @i aGv) (@
D) (v) )y @) @)
Which among the following is used
for computing United Nation’s Age-
Sex Accuracy Index ?
(A) Mean deviation of the age
ratios for males from 100.
(B) Mean deviations of the age
ratios for females from 100.
(C) Three times the mean of the
age differences in reported sex
ratios
(D) All the above

Which one of the following
population growth model is not
matched correctly ?

(A) Arithmetic : P, =P (1 +1t)
(B) Exponential : P, =P_e"
_K

1 +e2* bt
(D) Gompertz : P, = BC'

(C) Logistic: P, =

The double time (t) of a given
population growth rate (r) is
log 2

log €?

B) t= "

_loge
© t= 2r
2

log e

D) ="

How many years it takes the
population to double with a growth
rate of 1.0 ?

(A) 70 years
(B) 46 years
(C) 140 years
(D) 28 years

What are the data requirements for

calculating Infant Mortality Rate ?

(A) Infant births and deaths of one
year.

(B) Infant births and deaths of two
consecutive years.

(C) Infant birth and deaths of three
consecutive years.

(D) All the above



STHEET 3T

qeaA - 11

A : T T H U (50) SE-Toehodial U & | Hedeh W9 % &F (2) 37k & | Wt e e € |

1.

fAfafad ¥ 9 &9 | T STHEET H
STHITReRIT TeT0T TE & 2

(A) 3T T

(B) AfiTeR =T

(C) dSenfee feafa

(D) T T

TR TYAT FAI0T (A9 HueT Fel) =
ST TS o UR SRSl GUE AT
yReT foha 2

(A) 1950-51 (B) 1954-55

(C) 1956-57 (D) 1958-59
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10.

11.

12.

13.

Which among the following States
has shown fast decline in growth rate
during 2011 compared to 2001

(A) Andhra Pradesh
(B) West Bengal
(C) Maharashtra
(D) Bihar

As per the 2001 Census of India the
Scheduled Castes and Scheduled
Tribes together constitute. What
percentage to the total population of
the country ?

(A) 24 percent
(B) 26 percent
(C) 28 percent
(D) 30 percent

The percentage of the child
population (0 — 6) age group, as per
2011 Census of India, lies in which
of the following category ?

(A) 8-10 (B) 10.1-12
€ 121-14 (D) 14.1-16.0

According to 2011 Census of India
the density of population is

(A) 250 - 299 persons per sq. km.
(B) 300 — 349 persons per sq. km.
(C) 350 - 399 persons per sq. km.
(D) 400 - 450 persons per sq. km.

As per the Census of India 2011 the
sex ratio in the Haryana State ranges
in which of the following category ?

(A) 850 —900 females per thousand

males

(B) 901 — 950 females per thousand
males

(C) 951 -1000 females per thousand
males

(D) Above 1000
thousand males

females per

Paper-11

14.

15.

16.

17.

18.

Who proposed Intermediate
variables frame work in the field of
fertility ?

(A) Davis & Blake

(B) Bongaarts

(C) Coale and Hoover

(D) Glass

Child-Woman ratio is a measure of
(A) Population growth

(B) Migration

(C) Mortality

(D) Fertility

Which one of the following

assumption is correct in estimating

the singulate mean age at marriage

using Hajnal method ?

(A) Fertility has been constant in
the past

(B) Pattern of mortality is constant
in past

(C) Marriage has
constant in past

(D) Both fertility and mortality
have remained constant in the
past

remained

Who proposed decade synthetic
cohort method of computing mean
age at marriage ?

(A) S.N. Agarwala

(B) Hajnal
(C) C. Chandrasekharan
(D) J.R.Rele

Which one among the following
variable is one of the Proximate
determinant of fertility ?

(A) Caste
(B) Social status
(C) Religion
(D) Contraception
J-15-12



10.

11.

12.

13.

2001 <t 37987 2011 ¥, Fr=foafaa ==
o q, g T 3 SHEET # 99t T H

I HHT TSI Bl § 2
(A) T IR

(B) fv= ST
(C) weRTZ

(D) fwr

2001 H FoT YRAA SFOET H
T T AT (STeRT) UTaeTear T & 2
(A) 24 Tfeea
(B) 26 Afer
(C) 28 ufeera
(D) 30 wfer

IRAF SEIOAT, 2011 & 3FER T
SHEET F AT (0 — 6)  TI-THE
frefefaa 4 9 frg ot 5 e & 2

(A) 8-10 (B) 10.1-12
€ 121-14 (D) 14.1-16.0

TR STRTOFT 2011 & STER G
T &

(A) 250 — 299 =afed wfd T freAmieR
(B) 300 — 349 =Afert Wi o7 fehetHict
(C) 350 — 399 =afed wfd =T feheAmieT
(D) 400 — 450 =AfeRT Wi T fehetHieT

YRAF SFTOFET 2011 % 3FER SR
H ittt oA 1 ° ¥ few e |
AT ?

(A) 850 —900 fer=it ufd &<k g&
(B) 901 — 950 Tt ufd &R 75
(C) 951 — 1000 F&rt Ufd TR T
(D) 1000 ¥ S et Ui &k qoy

14.

15.

16.

17.

18.

TS & & H HeAR TR % g
FH (3HIfeTE ARuaA %H ah) H
e feRe e 2

(A) Sfog 3R =i
(B) @i
(C) =FIel Tdl g
(D) TTH

S-Sl ST TohHehT AT T?
(A) ST Hhg
(B) Yara

©) IR
(D) VST

i & @ o q1 e &5
fafy & MR W wEel W&l w wEw
3 & A o foTT Wt g 2

(A) It B TSI ST @1 E |
(B) TogRY i U TR W@ T
(C) It | foarme Tt w1 e |

(D) It B Us 3 gegel T
WE |

fode & 999 W IIF SR Her
TOTTeAl hT kT fehee feam e 2

(A) THTA. AAA
(B) &

(C) I I=uIEA
(D) SL.3IR

FeffEd = 9 9 9 |1 9% =1
1 g s € 2

(A) sifa

(B) wmiRTe fefa
(C) uH

(D) TRy



19.

20.

21.

22,

Assertion (A) : Even after achieving
replacement level of fertility,
population continues to grow.

Reason (R) : This happens
basically due to inbuilt
population momentum.

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct
and (R) is not the correct
explanation of (A).

(©) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

As per the 2011 Census of India

which State among the following has

highest female literacy rate ?

(A) Delhi (B) Goa

(C) Kerala (D) Mizoram

As per the Census of India 2011 the

sex ratio in Kerala ranges in which

of the category ?

(A) 850 —900 females per thousand

males

(B) 901 — 950 females per thousand
males

(C) 951 -1000 females per thousand
males

(D) Above 1001
thousand males

Match the following List — I with
List —II

females per

List-I List-1I

(a) Regional model (i) Hajnal
life tables

(b) Singulate mean (ii) Brass

age marriage
(c) Theory of stable
population

(iii) Lotka

(d) P/FRatiomethod (iv) Coale
Semeny
(v) Sheps

Code :

@ () () ()
(A) @Gv) (@) (i) (i)
B) (@) @) () ((v)
© Gy @G (v) ((v)
D) (v) @(v) (@) (i)

Paper-11

23.

24.

25.

A relationship between curate
expectation of life (ex) and

expectation of life at birth (ex®) is

o 1
(A) ex=ex +5
B e+
(B) ex=ex -5
(C) ex=ex-1

D) ex=ex'+1

Assertion (A): Target of Infant
Mortality Rate (IMR) of 30 per
thousand live births could not
be achieved in India by 2010.

Reason (R)
rural areas are taking place in

: Majority of births in

home.
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the
explanation of (A).

(©) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

correct

method,
(d,) 18
calculated using the formula
(A) 49,=2-,m,
B) ndx = - expln - ym, —a- m’ n™ 2

M
1 n

L+ m|5+75 (nmx—logeC)
D) q,=1+px-px+1-px+2..

According to Greville’s
probability of death

© 9=

J-15-12



19. fWweE (A) : USHEAT % ufqeme

20.

21.

22,

T H T o4 F UvEE o

e § R Sglg B @ e |
% (R) : U7 oI T P

ST HaAT % HROT BT € |

(A) (A) 3R (R) THT TEl € 3T (A)
FT (R) W& T & |

(B) (A) 3R (R) IHI Tl & 3R (A)
FT (R) TEl TR T&I ¢ |

(C) (A)TE & W (R) T & |
(D) (A) 7@ €, W (R) T ¢ |

2011 S YRAE SOET % AR,
ffeted § 9, 5 T § S 9
T FAITH T 2
(A) feeedt
(C) A

(B) T
(D) foeirw

IR STHIOFET 2011 & SR HeT H
AT ST foR AT 3T | ST € 2
(A) 850 —900 fer=t ufd &<k g&
(B) 901 — 950 &It Ui &R I
(C) 951 — 1000 Ferat wid &R g5
(D) 1001 ¥ F Tl wid &= 7o

TEr — [ et — 11 ¥ gAferd i
-1 -1
(a) &FF Hige e (i) g
SIIGER
(b) foaE +H THA (i) TE
HEY 31
(c) fer SHEET (i) A
g
(d) diuE A (iv) HiFet
fagma ESECi)
(v) o=

(@ () (© (@
A) @(v) @O >) (1)
B) @@ @) () (@Gv)
(© ) @) (v) @Gv)
D) (v) G@v) (i) (D)
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23. HE SET TERT (ex) R 0 W

24.

25.

STeMT TR (ex©) W RO T4 &

(A) ex=ex°+ 5

o 1
(B) ex=ex -5

(C) ex=ex' -1

D) ex=ex'+1

AfFHT (A) : 9IRA H 2010 TF 30
afd TR Sfed agiaa % 9
1] 9og U T (M TH AR
o 8 I U T&I [T T W |

& (R) : TTHIOT &3 | oISret o
STHWAHETE |

(A) (A) 3 (R) 3T &t & 31T (A)
T (R) Tel TEHT & |

(B) (A) 3R (R) IHI Tel & W (A)
T (R) TeT TR & & |

(C) (A) T g, W< (R) T & |
(D) (A) 7@ €, W (R) T ¢ |

foferet omet o STTER T 1 HIeAa
(,q,) B TOET foR e ¥ Bt S
T2

A ,q,=2-,m,

B) 4,= 1—exp(—n~nmx—a-m3-nmxz)

nmx

1 n
1+ nmx[i +1 (nmx—logeC)}

D) g,=1+px-px+1-px+2..

< 9,=

Paper-I1



26.

27.

28.

29.

30.

31.

For calculation of  Maternal

Mortality Rate (MMR). The

denominator is

(A) Total number of women in
reproductive age in given time

(B) Total number of pregnancies in
given time.

(C) Total number of live births in
given time

(D) Total population in given time

For computation of Infant Mortality

Rate, the denominator is

(A) Total number of pregnancies in
given time

(B) Total number of live births and
still births in given time.

(C) Total number of live births in
given time.

(D) Total population of areas in
given time.

Which one of the following States is
mostly urbanized ?

(A) Andhra Pradesh

(B) Tamil Nadu

(C) Maharashtra

(D) Orissa

Which one is not the measure of
Internal Migration ?

(A) Natural Growth Rate Method
(B) Residual Method

(C) Survival rate method

(D) Net Migration rate

Which one of the following country
does not allow internal migration to
its capital town ?
(A) India

(C) Malayasia

(B) Indonesia
(D) Thailand

When India started using the concept
of Urban area ?

(A) 1951 (B) 1961

(©) 1971 (D) 1981

Paper-11

32.

33.

34.

Assertion (A): Class 1 cities in
India have grown faster than
small and medium towns.

Reason (R) : Due to change in the
definition of urban areas.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

According to Everett which among

the following factors are associated

with the decision to migrate and the

process of migration :

(A) Factors associated with the
area of origin

(B) Factors associated with the
area of destination

(C) Intervening obstacles

(D) Technological advances

Match List — I with List — II
List-I List-1I

(a) Fertility (i) Caldwell
and density
inversely
related

(b) Social
capillary
theory

(c) Theory of (iii) Dumont
cultural lag
and
diffusion

(d) Wealth
Flow
Theory

Code :
@ M © @

(A) (i) @) @) (v)

B) @) (i) av) (@

© @ av) (i) @

D) @G @) Gv) @

J-15-12
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(iv) Besher



26.

27.

28.

29.

30.

31.

;@ﬂawm‘?@mﬁmﬁ%‘{

(A) Tt wew @ H g S
a1g o ot 6t ot et

(B) Tl vod 99T § TUROT A
et Ferat st et fet

(©) et v W i e g
Ht Fot it

(D) VST 9HT H FoT TG

ToT9] geger ot U & fAU e &

(A) VST OHF H YR HA ool
et =t ot fat

(B) WEd 99T H Siaw ugfadl X
Tq T S et AT

(C) V& §HT H Siaw Sl &l el
T

(D) ST THI H & Hl Fol SHaE

ffafed & @ &9 W T gE
TP € 2

(A) 3T USTT

(B) diterrg

(C) ™R

(D) 3eMr

FAffad 0 ¥ 9 91 -6 &
T TEl & 2

(A) WTEHic Hegfg 3T el

(B) 3Taf¥TSE yoTTedt

(C) 3T SHfadr 5T

(D) FeT W TT

frafafed & ¥ ®F @ I/ S
TEFEN H STRRIEN W SEf el

T ?

(A) ¥rd (B) TUEHRmRET
(C) HaAtemEm (D) oTEAvs
ORG T TRIT &5 ol TETIRT H YT
e TIRET g3 2

(A) 1951 (B) 1961

(C) 1971 (D) 1981

J-15-12

32.

33.

34.

AfWmeT (A) : 9IRA | Ui [ % TR
1 ghg T A AR B TR @
My AT AL & |

& (R) : TR & H g
TZAH YA & |

(A) (A) 3R (R) 31 Tl & 3T (A)
FT (R) TEl T E |

(B) (A) ¥R (R) 3 el &, T (A)
T (R) Tel TR0 TEl ¢ |

(C) (A) T T, W (R) TeAd € |
(D) (A) 7o &, W (R) WET & |

T % FER Frefafad § @ o9 @
FHNE T & U S g h AT
q grafed € 2

(A) S-87 ¥ 5T §T HRb

(B) I &7 ¥ 2 g FRH

(C) Yol ARy

(D) VRN 3t

Tt — I GEt — 11 & gafed Hif
-1 =h-11

(a) USFACT 3R (i) hogdd
g JcohH
q T
T

(b) TS
EAINED)

fas=

(c) HiEHdH
Ugem
forazor
fas=

(d) IOET ¥EE (iv) ¥R
s

T4

[N

(i) HESW

(iii) Al

@ (b)) (© (@

(A) (i) @) @ (@v)

B) @) @) Gv) @

© @ av) @) @

D) @G @) Gv) @
Paper-I1



35.

36.

37.

38.

Most of the population theories have
been emerged in which century ?

(A) Seventeenth
(B) Eighteenth
(C) Nineteenth
(D) Twentieth

Match List — I with List — 11

List-I List-1II
(a) Zip’s (i) Push and
Model Pull factors
(b) Lee (i1)) Rural/urban
migration
(c) Todaro (ii1) Investment
decision
(costs and
returns)
(d) Sjaastad’s (iv) Gravity
Model
Code :

(@ () (© (@
A) @) aG) 3> (v)
B) Gv) @ (1) (i)
© G aGv) (@ @G
D) Gv) i) () @

According to the latest sample
registration bulletin the crude birth
rate of India is close to which of the
following figure ?
(A) 18.00

() 220

B) 20.20
(D) 24.0

Agricultural Density refers to

(A) Ratio of workers to the farm
land

(B) Ratio of farmers to the farm
land

(C) Ratio of farmers to workers
(D) All the above

39.

40.

Match List — I with List — II
List-I List-II
(Theory) (Propounder)

(a) Transfer of (i)
labour from
subsistence
sector to
capitalist
sector

E. Boserup

(b) Investment (i1) Paul Ehrlich
at the rate
equal to
propensity
to save
(c) Innovation (iii) Harrod and
/Increase in Domar
productivity
in the face
of
population
growth
(d) I=PAT (iv) Lewis
Growth
Model

Code :

@ (b)) (© (@
A @O G @>@) @Gv)
B) @) G @O @)
© Gv) i) @@ G
D) ) ai) Gv) @)

Which  among the following
categories is not in the list of the
United Nations Millennium
Development Goals ?

(A) Eradicate extreme poverty and
hunger

(B) Proximate gender equality and
empower women

(C) Ensure
sustainability

(D) Right to education

environmental



35. aifysay SO gl ogra e
IIATE! T 31T 2

(A) Gedl It
(B) 3feredt vt
(C) S=wat vt
(D) el o
36. g - [ et — 11 ¥ GHford i
-1 =h-11
(a) Mm@dARA () WH e
ATHIH
hIh
(b) < (i) TEOARE
PEIES
(c) <rert (i) Few ol
@re ud
i)
(d) TEeE’d  (iv) T A
E T

(@ () (© (@
A) @) aG) 3> (v)
B) Gv) @ (1) (i)
© Gi) aGv) (@) (G
D) Gv) @) () @

37. 3TEAA QUG ISEYH Joifed” & AR
IRA T TN T e § o
o g o
o 3ifehe o Teheam € 2

(A) 18.00 (B) 20.20
(©) 220 (D) 24.0

38. P T foREhl 3T AT Yt & 2
(A) T qH H T F A
(B) T I 1 P & SR
(C) TR 1 FHIF I 3T
(D) U T

39. - [ GEr — 11 ¥ GHoTd T
-1 =t-11
() (Eferaee)

(a) e e d (i) T I9&T
ISTiaTaT &
I T HT
ETAT0T

(b) s=d H (i) T TR
yg T H

HHA

T

(c) SHEET
Tgfg *
TG
JAISShdl bl
SIBEC)
oReeT
Kkl

@1 = U (v) baw o=
(PAT) HiseT

TN

(=N

(iii) & Ud SMR

(@ (®) (© (@
A) @ a) 3> (Gv)
(B) @Gi) aGi) @@ (@Gv)
©) Gv) @) (@) ()
D) () @G Gv) @

4. = 9 ¥ BA W oA WgE T
fcifom forera wteddt st e o &l & 2
(A) IR FEFar 31T g 1 gEE
(B) TR Wil GHMGAT U Afge
LRIESEZU
(C) UNERICTH T8 i ! T
(D) TereT = s




41.

42.

43.

Assertion (A) : Son preference is
high in India.

Reason (R) : India is primarily an
agrarian country where sons
have their importance in
extending help and support to
their parents in agricultural
activities.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true and
(R) is not the correct answer of
(A).

(©) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Assertion (A): The National Rural
Health Mission (NRHM) has
been successful in improving
health condition of the poor
couples living in the villages.

Reason (R) : The Accredited
Social Health Activist (ASHA)
are playing significant role in
providing health care services
to the needy couples.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

Which of the following is not a
natural contraceptive ?

(A) Celibacy

(B) IUD

(C) Coitus Interrupts
(D) Periodic Abstinence

Paper-11
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44.

45.

46.

Which is not part of the
Reproductive Child Health Scheme ?

(A) 3 Ante Natal check-ups

(B) Institutional Delivery

(C) Rashtriya Swasthya Bima
Yojana

(D) Post-partem services

Arrange the following in

chronological order :
(i) Maternal and Child Health

Programme (MCH)

(i) Child Survival and Safe
Motherhood Programme
(CSSM)

(ii1)) Reproductive and Child Health
Programme (RCH)

(iv) National Rural Health Mission
(NRHM)

A) ) @ a6 @Gv)

B) @Gi) aG) Gv) @
© Gv) @) (@) @G
D) @ aG) 3§ (Gv)

Assertion (A) : There is remarkable
increase in Institutional
delivery during the last five
years in India.

Reason (R) : Incentive  scheme

under Janani Suraksha Yojana

(JSY) in NRHM motivated

women for Institutional

Delivery.

Both (A) and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true and

(R) is not the correct

explanation of (A).

(A) is true and (R) is false.

(A) is false and (R) is true.

J-15-12

(A)

(B)

©
D)



41.

42.

43.

ATUHAT (A) : 9T § TS H =
e o €

& (R) : YR WA w9 9

FH TAH I T SR ASH H

e © s of 310 Hra-fodr

Hity At @ wEEe @R

THIHEA T |

(A) 31T (R) THT & & 3 (A)

FT (R) Tel WL E |

(A) 3T (R) S W&l &, T (A)

T (R) TeT TEHIT & & |

(C) (A)WEE T (R) T & |

(D) (A)Tod &, =g (R) W&l & |

(A)

(B)

AP (A) : T WO e
fHeM (U o) v9 TH) ot §
et YR gmiaEr o @R
fefaat =l QurA 3 9% @I e |
& (R) : QAT |
T gdl (3TN SReans
T T W @A gaTd
TS 1§ Hewaqul it
®WE |
(A) 3R (R) I &t & 31T (A)
T (R) Tel T E |
(A) 31 (R) T Wl &, T (A)
FT (R) TEl TR TéI ¢ |
(A) W&l &, W= (R) Toa € |
(A) TeTd &, T (R) W&l & |

(A)
(B)

©
D)

freffed & & @9 @ wEhe
TR el & 2

(A) s

(B) @M 7 (IUD)

(C) THIT-37eRIgH (FIgeq TXUH)
(D) W= FEm
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44.

45.

46.

T SCAEA STA-TeA ThiT T i 9T
39T TR & 2

(A) 3 qd-y9a Si=

(B) HEIH wHfd

(C) T W@ ST AT

(D) I ST I GaTd

=7 Bt FToTshy 1§ T

() UgE UH ST SEsy
(TH i )

TA-GET T GgEd A
i (3 7 )

T U5 e a6 WA ST
(3T &t Tw)

TR ATHoT e e (U 3R
g TH)

) (@@ @) @Gv)
B) @) @) Gv) @)
(©) Gv) (i) @) (@)
D) @ a) 3§ (Gv)

(ii)
(ii1)
(iv)

(A)

afvrme (A) : 9RA § fuse o et
% IR G Tal § STHTIROT
FEEE |

7% (R) ! T R T W %
ST ST e A W@
Tiedes @hi A ferdt st S
T % oY S T |

(A)aﬁr(R)aﬁuﬁ%aﬁT(A)
FT (R) TEl T E |

(A) 3R (R) ST T €, TR (A)
F (R) TEl TR TéI ¢ |

(A) T ¥, W (R) T € |
(A) ToAd &, =] (R) T&I & |
Paper-11

(A)

(B)

©
D)



47.

48.

49.

All the 191 UN member states have
agreed to try to achieve the United
Nations Millennium Development
Goals by the year
(A) 2000

(©) 2010

(B) 2005
(D) 2015

Arrange in Ascending order (Low to
High) Popullation density of the
Indian States according to 2011
census

(A) Uttar Pradesh, Kerala, West
Bengal & Bihar

(B) Bihar, Kerala, Uttar Pradesh &
West Bengal

(C) Kerala, Bihar, West Bengal
and Uttar Pradesh

(D) West Bengal, Uttar Pradesh,
Bihar & Kerala

Match List — I with List — 11
List-1 List-11

(a) Dual (1) Myers
system of
sample
registration
areas and
surveys

(b) Digit
Preference

(c) Digit
Dislike
Index

(d) Non-
response
correction

Code :

@ ® © @
(A) (v) () @) (i)
B) @) @) aGv) (@
© @Gv) p @) @
(D) (@) Gv) a) (@

(ii)) Whipple

(i11) El Badry

(iv) Chandrasekhar
and Dening

50.

(a)

(b)

(©

(d)

(e

List-I
Latin
American
Model Life
Table

Chilean
Model Life
Table

South
Asian
model Life
Table

Far Eastern
model Life
Table

General
Pattern of
Life Table

Code :

(A)

©)

(@) (b)

(1)

(ii)

(i)

(iv)

v)

(©)

) (1) (i)
B) (v) (i) @v)
(v) @Gv) (i) @G @)
D) Gv) (i) ()

Match List — I with List — 11

List-11
High death
rates at old
age
compared to
younger
ages

Similar  to
west  model
of Coale and
Demeney
Extremely
high
mortality

infant

High
Mortality
under age 15
and relatively
high
mortality —at
older ages
High
mortality

during infant

and
childhood
@ (e
iv) ()
(i) (1)

(i) ()



47. TIF T E 191 FEEIAT A 50. I — [ gEr — I1 § gaferd i
TR g THeAtTem fosr et i e
qs T %;%aj PRI e B (o Loy g1 Teh.I1
et uehe )
(A) 2000 (B) 2005 )
(©) 2010 (D) 2015 @) e W o Ehs[
AN 3TURT g |
48. 2011 & SUAT F MHR W A= rireer S o ey
W TSAT o SEEET Bl hi ARl e
Wﬁ!‘ﬁ@?:
(A) TR TV, W, TREE (b) Farerer (i) #reer
- gied  SieA A & UTEH
(B) foeR, ¥et, STRURYT, Uf¥ey Set Hree % WA
Gkl Hreer S fore] gegeT
(D) Uf¥eH ST, TR, f9er, e -
49. T - [ G — 11 ¥ GHford i @ T T Gv) 15 T ¥ e
.?ﬁﬁ-l eli-11 Hige  Sier Sz I
(a) o1 T (1) A - o aneEE
j: a::%q@%r R
359 5 T
(b) Teieefmm (i) feu
() fefsie et (iii) wet aredt (e) St aferdr (v) Ry @R
SRS FH  GEE TMTHA  H
(Fefre Fewees a3l IR Eic)
EEEL)) KRS
(d) TR-ITR (iv) TEIE wE FT:
T fm
- @ b @© @ (e
@ ® © @ (A) () Gi) @i @Gv)  (v)
(A) Gv) @Gy () (i) B) (v) (i) @Gv) @) (i)
?(3;; ((,”)) ((ffl)) ?Yi Eli © ) (v Gi) G) Q)
1V 11 111 1
(D) i) Gv) (i) ) (D) Gv) @) (v) () @
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